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Description
Two positive decimal integers without any leading zeros will be

called isomorphic if they are composed of the same number of
digits and same digit-repetition pattern (regardless of the value
of the digits.).

For example, all of the following numbers are isomorphic to
each other: 12156, 73748, 51590, 48412 since in each
individual number, the first and the third positions are occupied
by the same digit, and all the other positions have distinct digits
(which are also distinct from the digit in positions 1 and 3).

The following numbers are also isomorphic to each other:
237392, 578715, 341453. All of the following numbers are pair-
wise not isomorphic: 222, 545, 776, 811, 66.

The set of numbers that are isomorphic to each other will be
called an isoset. For example, the numbers: 11, 22, 33, 44, 55,
66, 77, 88, 99 form an isoset with cardinality 9 (number of
elements in the set). Any number is a member of exactly one
isoset.

A company wants to make use of isomorphic numbers in
classifying its clients into groups. Each client is given a unique
id number (a decimal positive number less than 1,000,000,000.)
Any two clients within the same group are given id numbers
that are isomorphic to each other. The company hires you to
write a program that will do two things:

1. Given two numbers, determine if the numbers are isomorphic
or not.

2. Given a number X, determine the cardinality of its isoset.

Input Format
The program accepts a list of one or more commands. Each

command is specified on a separate line. Possible commands
are:

VERIFY xy Test if numbers x and y are isomorphic or not.
SIZE x Print the cardinality of the isoset x is a member of.
QUIT Exit the program.

Commands are always uppercase words.

Output Format
For a VERIFY x y command, your program should output a line

of the form: k.[space] result

where result is ’true’ (without the quotes,) if x and y are
isomorphic, "false’ otherwise. k is the input line number of the
command. is a single space character. For the SIZE x command,
your program should print: k.[space] ¢ Where c is the
cardinality.

Sample Input
VERIFY 1121321 5545645

VERIFY 1111 1112
SIZE 11
QUIT

OUTPUT
1. true
2. false
3. 9
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